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Solve the following tions. '
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uestion 2
Solve the following tions. '
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uestion 3
Solve the following tions. '
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Solve the following tions. '
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uestion 5

Solve the following tions.
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Question 7

Solve the following equations.

a) [3x+1|=4x
b) [3x+1|=5-2x
0 [3x+1=2x-5

d) [Bx+1=|x-5|

x=1], x:—6,% , |no solutions|, [x=-3,1
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Question 8

Solve the following equations.

a) [2x+3[=2-x
b) [6x—1|=|x—1
©) J4-24=1-x

d) [2x+5/=4-3x

, |no solutions|,
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uestion 9
Solve the following tions. '
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uestion 1

Solve the following

a)

@) |2-\[<S Swe femion [a|as

B-l=% = =6 —
&-\:.Klg By IS

—’§<1<%

©) -2l €c  san auinon liad=s

l-m=s e -
L-2xsg 5 = —h:,t g P

~251S§/

© Vanl >z o guatas (ks

o =3 &=z 1
4141=~3S=) Ay { 2 1‘<_|

' AL~ op 1>.£/

(4 [2-slp e o Guon [acg|e

BD-g =2 = 5
§ S SMew

2?52 =5

o 1<% o 2)>S




uestion 2

Solve the following
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uestion 4

Solve the following

@ |adcs 5 So 2§

Py wm
243=5 S% o ;:\*Wn-m

e 2
oz} Yo s st |aale 2
A3=a ==y L o)
aaealney ’\%WM
A2l e Q%
1l 3] j sowr Sevanon e b

Q) | Sy
&:4»\1% Taat D <:VJL 3 ek,
7

oAkl e f‘%f/

L:H\) zi:wﬂk owt ool | =2k
A= Q) RPN .

et G| ——}S—l—r
/ 1k 220, Lol > 2[osy

EE

L —SA -
9&«‘=,B_¢§a B 91-,/\_‘

Bk ol ok

S




uestion 5

@ \aealy el sourgeosmon sl
A B - kA
Soaci e Ay

Q) loalg Il | st Gomian al=hanl

S35 a5 Ty
Lis e
@ 6lxd > 12- 30, Sut ke fal= b

Geam ) =29 a3
&:—zmgg ﬁ;.z?f’ :\:»740"‘1‘*’

La<d ayi S
@) L2l >2husl o g [a-dab]
b ko AP Sl (0

- -S(:<V

o~ O ]
i
® 2o laxoaalylon)
3>l
Zl0o works.
B e

3 b
W oaco Wt laxeal
ety

o
TETETIET
hae 6ol 3l2-3l
°2 2
O D0’ Wt

5o %
s lo-3] yalon]
=21 200

LR




uestion 6

Solve the following
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